CTET L1 Hindi L2 English P1

Topic:- CDP_P1_CTET

1) While domains of development sometimes overlap in explaining students’ abilities, yet which of
the following domain of development dominantly attempts to study the nature of reasoning of
individuals about their and others’ actions and behaviours?

(1) Language development
(2) Moral development

(3) Physical development
(4) Cultural development
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[Question ID = 1][Question Description = CTET_P1_PART_1_CDP_SET_112_Q1]

1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2) Which principle of development states that development takes place from head to toe ?

(1) Development is predictable.
(2) Development is a product of maturation and learning.

(3) Development proceeds in a specific direction.

(4) Rate of development varies across children.
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[Question ID = 2][Question Description = CTET_P1_PART_1_CDP_SET_112_Q2]
1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]



4. 4 [Option ID = 8]
3) Assertion (A):
Parents should be involved in discussions on childhood care.

Reason (R) :
A child’s development is influenced by family's atmosphere.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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[Question ID = 3][Question Description = CTET_P1_PART_1_CDP_SET_112_Q3]

1. 1 [Option ID = 9]

2. 2 [Option ID = 10]

3. 3 [Option ID = 11]

4. 4 [Option ID = 12]

4) As per Jean Piaget's theory of cognitive development, the concept of class inclusion is attained

by children during stage.

(1
(2
(3
(4

Concrete operational
Sensorimotor

Preoperational
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Formal operational
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[Question ID = 4][Question Description = CTET_P1_PART_1_CDP_SET_112_Q4]
1 [Option ID = 13]
2 [Option ID = 14]
. 3 [Option ID = 15]
4 [Option ID = 16]
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5) According to Jean Piaget’s theory of cognitive development, at which stage most children can

think hypothetically ?

(1) Sensorimotor

(3

(4) Formal operational

)

(2) Preoperational
) Concrete operational
)
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[Question ID = 5][Question Description = CTET_P1_PART_1_CDP_SET_112_Q5]
1. 1 [Option ID = 17]
2. 2 [Option ID = 18]

3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6) As per Lev Vygotsky's ideas, a teacher should help students to achieve zone of proximal
development by providing :

(1) punishment

(3
(4) negative feedback

)

(2) rewards
) scaffolding
)
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[Question ID = 6][Question Description = CTET_P1_PART_1_CDP_SET_112_Q6]
1. 1 [Option ID = 21]
2. 2 [Option ID = 22]
3. 3 [Option ID = 23]
4. 4 [Option ID = 24]



7) Lev Vygotsky emphaised on the use of for advancing development among

children.

(1) interactions, physical

)
(2) rewards, moral
3) mnemonics, social
)

(
(4) cultural tools, cognitive
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[Question ID = 7][Question Description = CTET_P1_PART_1_CDP_SET_112_Q7]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8) Who among the following proposed the theory of moral development among children ?

(1) Konrad Lorenz

(2) Sigmund Freud

(3) Lawrence Kohlberg
(4) Erik Erikson
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[Question ID = 8][Question Description = CTET_P1_PART_1_CDP_SET_112_Q8]
1 [Option ID = 29]
2 [Option ID = 30]
3 [Option ID = 31]
. 4 [Option ID = 32]
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9) Assertion (A):
Activity-based teaching-learning is considered child-centered.

Reason (R) :
Teachers do not play any role in teaching-learning process.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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[Question ID = 9][Question Description = CTET_P1_PART_1_CDP_SET_112_Q9]

1. 1 [Option ID = 33]

2. 2 [Option ID = 34]

3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10) The theory of multiple intelligence states that :

(1) Intelligence can be of different types.
(2) Intelligence cannot be accelerated.
(3) Intelligence can be measured accurately.

(4) Intelligence levels are same among all individuals.
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[Question ID = 10][Question Description = CTET_P1_PART_1_CDP_SET_112_Q10]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]




11) Lev Vygotsky views language :

(1) as a barrier in learning process.
(2) as a cultural tool which facilitates learning.
(3) as meaningless in thought process.

(4) as an insignificant component of biological maturation.
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[Question ID = 11][Question Description = CTET_P1_PART_1_CDP_SET_112_Q11]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4 [Option ID = 44]

12) Buying blue-coloured clothes for boys and pink-coloured clothes for girls promotes :

(1) Gender stereotyping

(2) Genetic characteristics of boys and girls
(3) Gender fluidity
(4) Sex selection
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[Question ID = 12][Question Description = CTET_P1_PART_1_CDP_SET_112_Q12]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13) Sarita, an English teacher observed that her students show differences in their learning levels
about what she teaches. So Sarita should :
(1) follow a uniform way of teaching so that individual differences in learning are reduced.
(2) make very strict rules for the students to follow.
)
)

(3) incorporate a variety of experiences in her teaching to improve learning.
(4) not be concerned about these difficulties.
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[Question ID = 13][Question Description = CTET_P1_PART_1_CDP_SET_112_Q13]
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14) What should be the main purpose of assessment ?

(1) Labelling of students.
(2) Same ability-based grouping of students.
(3) Understanding learning progress of students.

(4) Detention of students who score low.
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[Question ID = 14][Question Description = CTET_P1_PART_1_CDP_SET_112_Q14]
1 [Option ID = 53]
2 [Option ID = 54]
3 [Option ID = 55]
4 [Option ID = 56]
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15) Involving students in the process of assessment shifts the nature of assessment from :

(1) 'Assessment of learning’ to 'Assessment for learning’
(2) Formative assessment to Summative assessment
(3) Comprehensive assessment to Non-comprehensive assessment

(4) Continuous assessment to Non-continuous assessment
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[Question ID = 15][Question Description = CTET_P1_PART_1_CDP_SET_112_Q15]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16) In order to support inclusion of students belonging to disadvantaged groups, a teacher should :

(1) Foster sense of belonging among all students.
(2) Highlight students’ weakness in front of the class.
(3) Teach these students in a separate section.

(4) Use standardised curriculum for all students.
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[Question ID = 16][Question Description = CTET_P1_PART_1_CDP_SET_112_Q16]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]
3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17) To promote inclusion of a student with visual impairment a teacher should :

(1) verbally explain the information.

(2) show charts to explain the concept.
(3) use sign language.

(4) lock at them frequently.
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[Question ID = 17][Question Description = CTET_P1_PART_1_CDP_SET_112_Q17]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18) The characteristic feature of a specific learning disability ‘Dyslexia’ is :

(1) Difficulty in comprehension of text.
(2) Difficulty in walking.

(3) Difficulty in verbal communication.
(4) Difficulty in eating.
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[Question ID = 18][Question Description = CTET_P1_PART_1_CDP_SET_112_Q18]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19) Which of the following facility needs to be provided in the school to help children belonging to
deprived groups ?
(1) Providing flexibility in choosing the subjects.
(2) Implementing same educational programmes for all children in the class.
(3) Forcing them to take admission in special schools.
)

(4) Teaching them in a separate section of same school.
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[Question ID = 19][Question Description = CTET_P1_PART_1_CDP_SET_112_Q19]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20) [If Twinkle writes with her left hand, then her teacher should :

(1) Discourage her to use the left hand.
(2) Allow her to exercise her choice.

(3) Report it to the school counsellor.
(4) Force her to use the right hand.
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[Question ID = 20][Question Description = CTET_P1_PART_1_CDP_SET_112_Q20]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]

3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21) Assertion (A) .

A teacher should encourage students to work in groups and promote discussions with peers.
Reason (R) :

Learning is a social process.
Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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[Qu?;ti(?n II; =82;][Question Description = CTET_P1_PART_1_CDP_SET_112_Q21]

. 2 [Option ID = 82]

1
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3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22) Which of the following should be used to promote effective and meaningful learning ?
(i) examples
(i} non-examples
(i) analogies
(iv) negative reinforcement

(1) Only (i)

(2) (i) and (i) only

(3) (i), (ii) and (iii) only
(4) (i), (ii), (iii) and (iv)
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[Question ID = 22][Question Description = CTET_P1_PART_1_CDP_SET_112_Q22]

1. 1 [Option ID = 85]
2. 2 [Option ID = 86]




3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) In a constructivist classroom, learning should be conceptualised as :

(1) mere reproduction of knowledge.
(2) disconnected from real life.
(3) a result of classical conditioning.

(4) a result of active interaction with environment.
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[Question ID = 23][Question Description = CTET_P1_PART_1_CDP_SET_112_Q23]
1 [Option ID = 89]
2 [Option ID = 90]
3 [Option ID = 91]
4 [Option ID = 92]
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24) Which of the following strategies helps students to remember information for longer durations ?

(1) Creating groups of meaningless words related to information.
(2) Presenting information in disorganised manner.
(3) Creative visual metaphors and analogies related to information.

(4) Presenting information without any context.
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[Question ID = 24][Question Description = CTET_P1_PART_1_CDP_SET_112_Q24]
. 1 [Option ID = 93]
. 2 [Option ID = 94]
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4. 4 [Option ID = 96]




25) Which of the following should be avoided by a teacher if he wants to promote problem solving
abilities in his students ?

(1) Motivate students to understand the problem properly.

)
(2) Encourage them to see different perspectives of the problem.
3) Help them to develop the habit of doing systematic work.
)

(
(4) Encourage them to complete the task anyhow.
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[Question ID = 25][Question Description = CTET_P1_PART_1_CDP_SET_112_Q25]
1. 1 [Option ID = 97]
2. 2 [Option ID = 98]

3. 3 [Option ID = 99]
4. 4 [Option ID = 100]

26) With reference to errors made by students, a teacher should :

(1) minimize errors by negative reinforcement.
(2) minimize errors by punishment.
(3) find out the learning gaps causing errors.

(4) ignore the errors.
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[Question ID = 26][Question Description = CTET_P1_PART_1_CDP_SET_112_Q26]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

27) Cognition and emotions are

(1) independent to each other
(2) rarely related to each other
(3) interrelated to each other

(4) not influenced by environmental factors
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[Question ID = 27][Question Description = CTET_P1_PART_1_CDP_SET_112_Q27]
. 1 [Option ID = 105]
. 2 [Option ID = 106]

1
2
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28) A student who considers his lack of ability as the reason for repeated failures is likely to
develop a sense of :

(1) high self-esteem

(2) learned helplessness
(3) positive self-concept
(4)

4) increased self-efficacy
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[Question ID = 28][Question Description = CTET_P1_PART_1_CDP_SET_112_Q28]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29) National Education Policy 2020 emphasises on :
(1) Multidisciplinary education
(2) Rigid curriculum
(3) Summative assessment

(4) Exam-centric pedagogy
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[Question ID = 29][Question Description = CTET_P1_PART_1_CDP_SET_112_Q29]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30) impacts learning negatively.
(1) Malnutrition
(2) Curiosity
(3) Metacognition
(4) Mastery oriented goal
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[Question ID = 30][Question Description = CTET_P1_PART_1_CDP_SET_112_Q30]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]

3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_Q31-45_P1_CTET

1) Sum of two even numbers and two odd numbers is :

(1) Always even

(2) Always odd

(3) Neither even nor odd

(4) Sometimes even and sometimes odd
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Question ID = 31][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q31]
1 [Option ID = 121]
2 [Option ID = 122]
3 [Option ID = 123]
4 [Option ID = 124]

2) A rectangular piece of cake is cut into 4 equal parts. One of these parts is divided into two

equal parts. If the one part, so obtained, is divided into 4 equal parts again, then the smallest
part will be

(1) 3—|2 of the cake
(2) % of the cake
(3) % of the cake
(4) % of the cake
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[Question ID = 32][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q32]

1
2
3.
4

. 1 [Option ID = 125]
. 2 [Option ID = 126]
3 [Option ID = 127]
. 4 [Option ID = 128]

3) Jeevan writes numbers 1 to 100 on a rectangle, which is divided into hundred equal squares.

Minu shades all multiples of 8 in it with yellow. Mahin shades multiples of 9 in it with green.
Then, the largest number in the rectangular array, which has both colours is

(1ne

(2)9

(3)36

(4)72
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qag FET Jen, e Wt e g e g

(1)8

(2)9

(3) 36

(4)72

[Question ID = 33][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q33]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]

4. 4 [Option ID = 132]

4) Anagha wants to make a 3 x 3 magic square using the numbers 3 to 11. What will be the sum
of the numbers in each row ?

FATET 3 & 11 T T FEATHT F IUAGT F T 3x 3 HIorH = AT F1EAT 2 |
e Uik § STl T TWTHA F4T AT 2

(1) 20
(2) 21
(3)7

(4) 14

[Question ID = 34][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q34]

1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

5) If x and y are two numbers such that their sum is 110 and difference is 100, then
(1)x=100,y=10
(2)x=105,y=5
(3)x=90, y=20
(4)x=85,y=15



T2 x 3T y = H@eAT T T g 4 e TerERer 110 g & 29T @497 100 2,
ar

(1)x=100, y=10 2
(2)x=105, y=52
(3)x=90, y=20 2
(4)x=85, y=15%

[Question ID = 35][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q35]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]
3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

6) Which of the following numbers is divisible by 9 7

(1) 261345
(2) 216315
(3) 216615
(4) 216617

feterteT § 7 F9-H1 g 9 7 fAasT 2 2

(1) 261345
(2) 216315
(3) 216615
(4) 216617

[Question ID = 36][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q36]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7) The sum of all angles formed in the lefter ‘H’ is equal to

(1) sum of angles of a friangle.
(2) sum of interior angles of a quadrilateral.
(3) angle opposite to hypotenuse of a right-angled triangle.

(4) four times the angle formed at one vertex of an equilateral triangle.

FATH H T THT A0 FT ANTHRA q05 2

(1) T TSt 3 000 % AR

(2) TF IS & AT AV & TOTFA &

(3) U= FHAT AT F F AT T

(4) 7% TEaTg Bys * UE i 9 a9 w00 % A A




[Question ID = 37][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q37]
1 [Option ID = 145]
2 [Option ID = 146]
3 [Option ID = 147]
4 [Option ID = 148]

A W N -

8) What will be the distance between the tips of minute hand and hour hand of a 12-hour clock at
5:00 am, if minute hand is of 4 cm and hour hand isof3cm ?

TF 129 AT TR H Q00 am T e g s v v de g 5 e %
o= 1 71 7 gy, af= e i 792 F G491 4 om § o7 = Y g2 fY d=re 3

cmg?

(1)2 cm
(2)4 cm
(3)5cm
(4) 7 cm

[Question ID = 38][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q38]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]
3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

9) A teacher gave three figures to class 5 students - (i) Circle, (ii) Square and
(iii) Triangle.
She asked them, "How many figures will look same after half a turn” ?
She wants her students to learn about
(1) Rotational symmetry
(2
(3

(4) Comparison of areas

Lines of symmetry

Comparison of angles

)
)
)
)



forers 7 #eAT 5 3 FA=niEet A A arptaar () 79, (i) 79, @7
(iii) Frger &7
Freid 39 TN, "TAE F AT arptaat snd gty F 975 76 w2Air 2
Fg AT =TTt T 9= F a1 § 2099 F4047 =18 T30 8
(1) o T
(2) F=iaT =
(3) FI07T ¥ AT
(4) F=FAT i AT
[Question ID = 39][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q39]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]

3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10) Bincy was born on 08-08-2007. Her age on 31-07-2022 was

(1) 14 years 11 months 31 days
(2) 14 years 11 months 30 days
(3) 14 years 11 months 23 days
(4) 15 years 11 months 30 days

for=T =T 5= 08-08-2007 & g1 | 31-07-2022 H TH=h1 AP 4T

(1) 14 79 11 71g 31 =79
(2)14 a9 11 72 30 &7
(3)14 a9 11 wg 23 &7
(4) 157 11 71g 30 &

[Question ID = 40][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q40]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11) Reading in an electricity meter in June 2022 was 263 units. Next month it became 345 units. If
electricity charges for first 50 units is ¥ 4 per unit and for 51 to 100 units, charge is Z 5 per unit;

what will be the total electricity charges for July 2022 ?

1)% 160
2)2 200
3) % 560
)

(
(
(
(4)z 410



S 2022 ¥, fasret F v e § i 263 qfe o | @vrer qrg 77 T2 345
Tz g1 T2 | 7% 799 50 I & o B g k4 afm gfe g a9 51 9
100 TFET F T 78 977 X 5 Wid e 8, 1 e 2022 F forg 57 B a7
T ZRIT 2
(1) 160
(2)% 200
(3)% 360
(4)3 410

[Question ID = 41][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q41]
1. 1 [Option ID = 161]
2. 2 [Option ID = 162]
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12) A toy-car costs T 35:-00, a banana costs  2:50, a notebook costs T 25-00 and a glass of lemon
juice costs ¥ 12:50. Which of the following combination can Arun afford, if he has ¥ 50 with him
?

1) 1 notebook, 1 banana and 2 glasses of juice
2) 1 toy-car, 2 bananas and 1 notebook
3) 1 notebook, 2 bananas and 1 glass of juice

(
(
(
(4) 2 notebooks and 1 banana

T AT FT Joa T 3500, UF el 1 o < 2-50, UF Aleg® FT T4 I

2500 TIT i F 7 & U [roms 7 7o X 12-50 7 | I &307 % 978 I 50 €,
G G R U B e B 2 A P I e T A e 2 e 1 s B s N L =

(1) 1 T2, 1 %1 &7 59 % 2 [

(2) 1 TIAAT-HTE, 2 3T 17 1 Aregs®

(3) 1 A=, 2 Fef &7 57 1 1 Fremg

(4) 2 FTETF AT 1 FAT

[Question ID = 42][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q42]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]

3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13) Which of the following figures has largest area ?

(1) Rectangle with sides 3 units and 4 units

(2) Square with sides 3 units

(3) Circle with radius 2 units

(4) Right-angled triangle with sides 3 units and 4 units (other than hypotenuse)



feaforfaa & 7 & arsfa =1 afasas armea g 2

(1) SqoITeA 3 THTE AT 4 THTS ATAT AT

(2) g1 3 THTE ATAT AR

(3) BrsaT 2 =hTs AT 74

(4) STl 3 THTS &0 4 THTE (F7 6T GIgHT) ATAT THHRT B
[Question ID = 43][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q43]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]

3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

14) Marks obtained by class V students in a Mathematics Test are as shown below :
6.1.2,85,0,5.51,97.8,5,00.8,3,8,10,10,3,4,7,.8,9,8,0, 2
How many students obtained marks more than or equalto 5 ?
(1)14
(2)15
(3)16
(417

T 0 262 F FAT V & et g grea BT T s {5 S S
6,1,2,8,5,0,55,1,9,7,8,5,0,0,8,3,8,10,10,3,4,7,8,9,8,0, 2
e fE=nieat 7 5 41 5 7 #feen @ v B 2

(1) 14
(2) 15
(3) 16
(4)17

[Question ID = 44][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q44]
1. 1 [Option ID = 173]
2. 2 [Option ID = 174]
3. 3 [Option ID = 175]
4. 4 [Option ID = 176]

15) What will be the number on right hand side of the next row in the following pattern ?
1+3=4
1+3+5=9
1+3+5+7=16

(1)18
(2) 20
(3)25
(4) 36



(B e M o e 5 ) e s T Y| R 0 W o Wt
1+3=4

1+3+5=9

1+3+5+7=16

(1)18
(2) 20
(3) 25
(4) 36
[Question ID = 45][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q45]
1 [Option ID = 177]
2 [Option ID = 178]

3 [Option ID = 179]
4 [Option ID = 180]

A W N -

Topic:- MATH_Q46-60_P1_CTET

1) According to National Curriculum Framework, 2005, which of the following shows mathematical
thinking of a child ?
(1) Ability to give exact definition of mathematical concepts
(2
(3

(4) Ability to explain mathematical procedures

Ability to recall the correct formulae/facts

)
)
) Ability to calculate fast
)
TTEETT IT3=41 94T, 2005 F aqare efofas § F #i9-a1 3==9 % 7T
~a Fr q9Er g ?
(1) TOTETT SFATZOTAT T T2 TTATIT 39 61 TEIAT
(2) TRt AT T T FT 1 AT
(3) &ft=r TOTAT FTA T A
(4) sriorer e wterar-fAtaeEy #r aasme i Traar
[Question ID = 46][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q46]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]

3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

2) Which of the following strategies are nof suitable for students with low achievement in
mathematics ?
(1) Using activities centered on students’ interest
(2
3

(
(4) Allocating extra time for teacher-guided practice

Reducing the number of practice problems in a single work session

Assigning only the most difficult problem

)
)
)
)



(R 1 e S M 0 o e e 0 e B 2 R R - e M E PR TR IR E
STHF Agl e ?
(1) et it = 97 Feg TR EtaEt #7199 7T
(2) TR T T H AT TEEITA T 9T F Y TaAT
(3) F=T HAH FidA THET (Hi=02 FAT
(4) forersr-FEfarg s 5 oo afafea au g Fw
[Question ID = 47][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q47]
1. 1 [Option ID = 185]
2. 2 [Option ID = 186]
3. 3 [Option ID = 187]

4. 4 [Option ID = 188]

3) A child in a mathematics class says that 5 dots, 5 sticks, 5 marbles all represent the number
five. The child is referring to which aspect of the number ?

(1) Ordinality
(2) Nominality
(3) Cardinality
(4) Place value

= F=AT 0T 1 Fe4T § Fgar g 4 5 favg, 5 aentear, 5 &= 7+, §aw 9r=7 #
TA=ta F2d g | T==1 JeAT ¥ T g 7 AT " FT 751 g 2

(1) FREFARAT
(2) ATFHF AT =T
(3) TTOTTIAT

(4) BATHT AT

[Question ID = 48][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q48]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]




4) Which of the following pedagogical processes are appreciated to enhance Foundational
Numeracy Skills among students as per ‘NIPUN Bharat Mission’ ?
A. The classroom environment should cultivate the spirit of exploration and
visualization of concepts.
B. Provide opportunities to enable child to solve real-life problems and not just
textbook problems.
C. The instruction should be given in local language.
D. Errors should not be given any space in a mathematics classroom.
Choose the correct options :
(1) Only D
(2)A,BandC
(3) Only A
(4)A,BandD

o AT e & aqeTe, Fentiat & f= qagd AeATenE 9w A8 5

o ReATertaa 5 5 TH-4T eTiors TrHATa 7 Jvrgr S 9947 g 2

A. TFET F HIEIA T FFATIOMA HT drer &7 FeATHTor it Graar =T
T ATAT AT AT |

B. &=d &l ATEATA®-S(1aq &l FHEITHA HT g Fieel H THH I %
FFTTT TSTH FY, 7T 6 Fae TIST0T S 5l THEATar i1 |

C. To=er v a7 =327 e =ieT |

D. T &7 T | Aot = oy Fig =09 981 g1 A1y |

gl AT 1 577 ffer

(1) = D

(2)A,B#=C

(3) FT A

(4)A, B T D
[Question ID = 49][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q49]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]

3. 3 [Option ID = 195]
4. 4 [Option ID = 196]




5) While introducing the concept of Addition of Fractions, in class V, Daljeet, a2 mathematics
teacher focuses only on using the standard correct procedure to solve a given problem. She
gives many gquestions to her learners for practice by using the algorithm taught. As a
mathematics teacher, Daljeet exhibits

(1) Relational understanding

(2) Instrumental understanding

3) An understanding of the needs of her learners
)

4) An understanding of the errors made by her learners in addition of fractions

—

FEAT V § TA=T o T07 T A= T Tf=T w4 gu, iord v e fertEen
AT § | 78 formae ¢ Fem-fAf &, wu Pt 1 72 go7 ey F o 3=
T | IO T U fOriRrET ® =9 H, Fed 3907dr 8

(1) FEATHF AHA

(2) i T

(3) &7 ForeaaTio= 7 ArgegFarar i a9

(4) TH=1 % ITRT 5 A9 fEveAriaaT gy i T At i T9sT

[Question ID = 50][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q50]
1. 1 [Option ID = 197]
2. 2 [Option ID = 198]
3. 3 [Option ID = 199]
4. 4 [Option ID = 200]

6) Which of the following is notan advantage of integrating Art in mathematics ?
(1) Helps visualization
(2) Connects mathematics with the real world
(3) Inculcates respect for culture and heritage

(4) Helps in rote learning in mathematics

fReferfera § & F19-a7 T F et A GHET F F FEAST 7l ?

(1) 30T F FETAET FIAT
(2) O =T ATEAA® AT F SleAT
(3) Frepfe S A & o aATe o= 7

(4) 7T & T=HT e § agrEar w7

[Question ID = 51][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q51]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]
3. 3 [Option ID = 203]
4. 4 [Option ID = 204]



7) Gurdeep wants to develop a mathematics kit to be used in his primary mathematics classes.

He must include

(1) materials that are used in everyday life.

)
(2) highly sophisticated instruments.
3) only ICT-based materials.

)

(4) expensive concrete models.

TR ST M0 Feredi § ITANT g w0 A 0F e e A =
g | 99 HiFTod HIAT AT 0 -

(1) e Str= | e At

(2) T=F gieeHa qra+
(3) =T ICT-arenta wrmsft

(4) 72T BE/ET ATeA

[Question ID = 52][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q52]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]

8) Which of the following represents the correct sequence of Van Hiele's levels of geometric
thinking ?
(1) Visualization, Analysis, Relationships, Formal Deduction
(2) Visualization, Relationships, Analysis, Formal Deduction

(3) Relationships, Visualization, Formal Deduction, Analysis

(4)

4) Analysis, Visualization, Relationships, Formal Deduction

feafofaa # & F19-97 39 290 F Sanaa o =69 F w990 F T8l aqnT 5
=TT #7ar g 2

(1) 3oz, foaaor, w=er AT 791, ArT="1H HaaT

(2) eeftmem, Ha it w8z, Freerg, da=rls Rra

(3) e it 7H=A, FeArrem, sdr=Tew ey, FHeermr

(4) FFgror, geoferem, Hee 1 79T, o=t {rae
[Question ID = 53][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q53]
. 1 [Option ID = 209]
. 2 [Option ID = 210]

. 3 [Option ID = 211]
. 4 [Option ID = 212]

A wWw N -



9) The terminologies ‘Area models’, ‘Length or Measurement models’ and ‘Set models’ are
associated with the teaching of which of the following mathematical concepts ?

(1) Place value

(2)

3) Sets and data handling
)

(
(4) Fractions

Areas of planes

TERTAT! S AlSA, L 1 109 qied’ dT qI=a7 (Fe) Aiear MaAfotag
H & BT 00 27 ATATLOMAT = Foveqom & Hefad 2 ?

(1) TP AT

(2) FTHTAT FT FAFA

(3) = 'l:!)a" ) :}:w ﬁ .

(4) Fa=
[Question ID = 54][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q54]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]

3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

10) According to National Curriculum Framework, 2005 posing meaningful problems in a
mathematics classroom is one of the important practices. Which of the following is least related

to the given statement ?

(1) Making students’ ideas in mathematics more visible in the classroom.
(2) Emphasizing on the thinking process of students while he/she is posing a problem.
(3) Directing students to pose problems that has unique, precise and correct answer.

(4) Providing time to allow students to organize their thoughts.

T OT5I=AT ®97ET, 2005 F AT, A0 60 FAT § FTAq0 T

TEA FAT U A Haew g | Refatag § § $19-a1 F99 3090 799 9

A FH BT H HT8T g ?

(1) Fear & fF=ntaat & i & @=r & 0 afemw w10 g9 |

(2) st Tt AT 99T TEd F TEe! gl OF HHT I (Hde TiHAT 97
T 34T |

(3) A=TTE=T &1 THT THETAN FT TEqT F0 FT (7297 IAT (OHT TF Alzd 4,
HETF 41T 71 I 2T

(4) =t i aue o= #7 "tsa/ e Fe FT F9T T59 9T |

[Question ID = 55][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q55]

1 [Option ID = 217]

2 [Option ID = 218]

3 [Option ID = 219]
. 4 [Option ID = 220]

A w N =



11) Which of the following statements most appropriately represents the principle of equality in
mathematics education ?

(1) Enhancing the learning of all by celebrating students’ diversity

3) Only few gifted students with computational skills can develop mathematical reasoning

)
(2) Use of ICT in teaching mathematics in present times is a must for every school
(3)

(4) Mathematics should be taught as compulsory subject upto class XlI

reaforfaa waeT & & se-ar Joe Orew F a9war F Wgia w5 aaias
STLH =9 & A= Far1 g ?

(1) FEnte & fAfFear F1 95w 39 g0 997 F A9 1 "grar 3=

(2) T 9T F gou® o & fow Ao F searaw HOICT # SUEAT

AATATITE 2
(3) ATIFAT FIAT ATH FAT T, HATAT A Bf T THOT FT (AT F7

(4) AT XI1 7 00 1 0 fary @ o =9 § ugrr §er A1y

[Question ID = 56][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

12) When asked to write Thirty Eight, a class Il child wrote it as 308. As a primary class
mathematics teacher how will you rectify child's error ?

(1) Provide similar examples for practice

3

)
(2) Use manipulatives to strengthen the concept of place value
(3) Ask the child to copy the answer from his/her classmate

(4) Write the counting from 1 to 40 on blackboard and show the right answer

sTa F4T 1l F F== Fr 38 formw & oo wgr w97 99 39+ 308 forar | fha =
TR HEAT 5 T8 F =7 9 A7 27 F== Al (& FT A ?

(1) F¥me = TorT J919 IR0 TS Fioh

(2) TATHIT HIT T AALTIOT FT qI2 F2F F (o0 Zod FIe0eT AU FT START
ERED

(3) F=4 FT HAIT HEASAT | ITL THA F4oh (1@ & [0 FghT
(4) 9T 9T 1 7 40 T A [t g 7gl 397 F1 aqr6e

[Question ID = 57][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q57]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]




13) Who among the following are the authors of the book titled “A Handbook for Designing
Mathematics Laboratory in Schools” NCERT 2005

(1) V. S. Verma and A. Mukherjee

(2) P. E. Bryantand T. Nunes

(3) Hukum Singh, Ram Avtar and V. P. Singh
(4)R. 8. Aggarwal and P. Singh

2005 F wra® fFeafotas § 7 F9 § ?

(1) =TT T T i

(2) 9.2, AT A A A

(3) g%H g, 71 s A AT [HE

(4) AT.TH. FETE U 91, A
[Question ID = 58][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q58]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]

3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

14) Which of the following is not a characteristic of open-ended questions in mathematics ?

(1) Useful for secondary classes only
(2) Trial and error
(3) Multiple answers

(4) Develops problem solving skills

et § & Fi-H7 00 § For (92 Arer 7971 =0 Fraar qgie ?
(1) F=er JTea T FATA F forw IUanit
(2) v #ie e
(3) T H HfEw T
(4) FTHEAT THTETT FI9 Al (AEH T Hear
[Question ID = 59][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q59]
. 1 [Option ID = 233]
. 2 [Option ID = 234]

1
2
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]

15) Which of the following statements is nof true about Bloom’s Taxonomy for mathematics ?

(1) Each domain is multi-tiered.
(2) Each domain is arranged in a hierarchical structure.
(3) Each domain classifies learning according to increasing levels of complexity.

(4) Next level of learning is a prereduisite for the lower level of learning for a particular domain.



TN = T S0 2RI H1 6 A1 § SHedieriad § 7 Fi-a71 99 T 7gl o ?

(1) 9= o%F Fg-FaE T grav g |
(2) T TEF TTAH T HeAAT ° sqatedd grav g |
(3) IeH= T F{EAdT *F qBd TN AT H e il A g F4497 2 |
(4) Bt R RO T F e w7 & qraq & oo Reer | oawr deaen
TEATTEAT T |
[Question ID = 60][Question Description = CTET_P1_PART_2_MATHS_SET_112_Q60]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]

3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- EVS_Q61-75_P1_CTET

1) Consider the following statements about Stepwells (Bavdis) :
A. These are the traditional systems of storage and conservation of rainwater.
B. These were used as community resources.
C. In stepwells, steps go down several steps deep but the people were allowed
to draw water up from the well using pulleys.
The correct statements is/are

(1) Only A
(2)Aand B
(3)Aand C
(4)Band C

ATATEAT (HTZTETT 3 ¥ BAuw & Fetoted e 97 @=e fie
A. T 3T IIET F FUSTION 7 HTeqr £ qreeafe yonfert 2 |
B. THHT TANT ATHETA FATLAT & =9 H F&I1 197 97 |
C. Fmafeat § Hifzat Sfie F 7= %5 dfora % STt g Toeg At &

FErefRat g 0 | vt wi=e A ot

el I EE
(1) F=T A
(2) AT B
(3)AdTC
(4)B&TC

[Question ID = 61][Question Description = CTET_P1_PART_3_EVS_SET_112_Q61]

1. 1 [Option ID = 241]

2. 2 [Option ID = 242]

3. 3 [Option ID = 243]
4. 4 [Option ID = 244]



2) Plants that grow without seeds are :
(1) Apples
(2) Pinus
(3)Fern
(4) Prunes

()&=
(2) T
(3) F
(4) T

[Question ID = 62][Question Description = CTET_P1_PART_3_EVS_SET_112_Q62]
1. 1 [Option ID = 245]
2. 2 [Option ID = 246]
3. 3 [Option ID = 247]
4. 4 [Option ID = 248]

3) In India we have around 22 Constitutionally recognized languages. Several States in India
have their own official languages. Santhali and Kuduk languages are spoken in

(1) Jharkhand
(2) Assam

(3) Manlpur
(4)

ATEA § AT Fi0a 22 A% Y F G- GOm0 g | 99T F A6
TTSAT H ATAT AT ATATT 2 | TATAT TS Fgah ATAT STl STrat @ "
|

() FEE

(2) ww

(3) witT®
(4) snfEar

[Question ID = 63][Question Description = CTET_P1_PART_3_EVS_SET_112_Q63]
1. 1 [Option ID = 249]
2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4) Jhum cultivation is :
(1) Organic agriculture
(2) Slash and burn agriculture
(3) Limited use of chemical pesticides

(4) Crop rotation



GURCELEA

(1) S T

(2) FTET &IT TATAT FAT

(3) T dTSFATIdT T J1 8T ITTHT
(4) AT =TT

[Question ID = 64][Question Description = CTET_P1_PART_3_EVS_SET_112_Q64]
1 [Option ID = 253]
2 [Option ID = 254]
3 [Option ID = 255]
4 [Option ID = 256]

A W N -

5) Solve the following riddle :
"My beak is very special
luse it like a needle
Stitching leaves | make my home
By what name | am known ?
(1) Indian Robin
(2) Sunbird
(3) Tailorbird
(4) Weaver bird

eferfe aget ga fife
o e #7797 991
Fra-d1 = & #gars ?

(1) Featast

(2) TrFEFTE T

(3) = =T
(4) F=T 7eft (3m)

[Question ID = 65][Question Description = CTET_P1_PART_3_EVS_SET_112_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]
3. 3 [Option ID = 259]
4. 4 [Option ID = 260]

6) Chiropterophily is pollination of plants by :
(1) Birds
(2) Bats
(3) Squirrels
(4) Bees



ST e 1T 9Tl & gy o At g 2

(1) =it

(2) THTEE
(3) Frergft

(4) Tt

[Question ID = 66][Question Description = CTET_P1_PART_3_EVS_SET_112_Q66]
1 [Option ID = 261]
2 [Option ID = 262]
3 [Option ID = 263]
. 4 [Option ID = 264]

A w N =

7) Qur country is rich in heritage and culture and art is a part of the culture. The famous traditional
art form of West Bengal is

(1) Jamdani

(2) Chikankari
(3) Patola

(4) Pochampalli

AT 291 A A vd deia /g g 997 e 59 qepid & Fer g ) atEe
ST T WG T el 1 =7 g

(1) STHRTHT

(2) FraaTet

(3) TETET

(4) Tr=HTAT
[Question ID = 67][Question Description = CTET_P1_PART_3_EVS_SET_112_Q67]

1 [Option ID = 265]
2 [Option ID = 266]

3 [Option ID = 267]
4 [Option ID = 268]

A W N -



8) Consider the following statements about elephants :
A. A three month-old baby elephant generally weighs less than 1 quintal.

B.

C.

D.

Elephants do not rest very much. They sleep for only two to four hours in a
day.

An elephant herd mainly has females and baby elephants. The oldest
female is the leader of the herd.

A herd may have 20 to 25 female elephants and young ones. Male
elephants live in the herd till they are 8-10 years old.

The correct statements are :

(1)
(2)
(3)
(4)

A BandC
B,CandD
A and D only
B and C only

ST a1 | fqefaiag waan o7 F=m e
A. HTHTIE: 19 ATE A 5 2T 6 &4 1 91 TF (e 7 F9 2E0

il
Q
B. Tt eAfash ATH Agl Fed g | & U T2 | FAA ;A AW 7L
HAZ |
C. Il & ve ¥ qoAa: gl iz =4 g1 7gd g A< 999 i1
2T 21 92 Foe HT AT ST 2
D. T fve & 20 & 25 gt sfix 7= 29 & | 77 grfi 8-10 &7
Ay & 7 & e F A E
TAH ARl T 2
()A, BT C
(2)B,C &7 D
(B)FITALATD
(4) FaT B i C
[Question ID = 68][Question Description = CTET_P1_PART_3_EVS_SET_112_Q68]
1. 1 [Option ID = 269]

2. 2 [Option ID = 270]
3. 3 [Option ID = 271]
4. 4 [Option ID = 272]



9) There are 3 traditional water conservation systems given below. |dentify the correct option
where you can see them:
Johad, Stepwell, Lakes.
(1) Nalanda, Udaipur, Prayagraj, Jodhpur
(2) Udaipur, Jaipur, Nalanda, Bikaner
(3) Prayagraj, Nainital, Udaipur, Jaisalmer
(4) Jodhpur, Jaisalmer, Bikaner, Udaipur

A TEIERT S G AT GZIAAr 719 2 gT g | Tl [AFeT B A4q Hiien
STEt AT g 2@ g4 ©
STgTs, AT, Hie |

(1) ATA=T, IITTL, TATTLTS, T

(2) TIAT, AT, ATHET, ST

(3) TS, AR AT, IIAT, THAHT

(4) ST, THAHT, AH1E, IIAT
[Question ID = 69][Question Description = CTET_P1_PART_3_EVS_SET_112_Q69]
1. 1 [Option ID = 273]
2. 2 [Option ID = 274]

3. 3 [Option ID = 275]
4. 4 [Option ID = 276]

10) Neeraj Chopra is a champion Olympian. Which game does he play ?
(1) Javelin Throw
(2) Shotput Throw
(3) Archery
(4) Triple Jump

IS ATIET U S F04" A 94T 2 | F H-87 G Feld g ?
(1) Safer a7 (9T %)
(2) erieqe o
(3) FE=ET (FEETET)
(4) fgmer s
[Question ID = 70][Question Description = CTET_P1_PART_3_EVS_SET_112_Q70]
1 [Option ID = 277]
2 [Option ID = 278]

3 [Option ID = 279]
4 [Option ID = 280]

A W N =



11) Pitcher plant (Nepenthes) traps and eats frogs, insects and even mice. In our country this plant
is found in
(1) Meghalaya
(2)
(3) Mizoram
(4) Arunachal Pradesh

Nagaland

mroff (i) T, Ha i AT A T I AT | g
29T H g TAT Fgl TAT ST ?

[Question ID = 71][Question Description = CTET_P1_PART_3_EVS_SET_112_Q71]
1. 1 [Option ID = 281]
2. 2 [Option ID = 282]
3. 3 [Option ID = 283]
4. 4 [Option ID = 284]

12) Ravi's clinical pathology report diagnosed his haemoglobin level as 12 gm/dL. This means Ravi
is/has :
A.  Anaemic
B. Not Anaemic
C. Normal haemoglobin level
D

Normal red blood cell count

(1)Only Band C
(2)Only Aand C
(3)Only C and D
(4)Only B and D



o AT TE-fEuEE et RO ¥ aqee 39 greanaiEd w1 | 12
g/t ToreT 2 ) e o 2 T T

-

A THEREATHIE G

B. "HAgIAATH U= Agl g

C. =T ATHATH gIAFANET #F47 g

D. =T &7 T3 FHTIRT T T0ET AT 8

()FaTB &% C
@)FaTAHT C
(3) %A C &= D
(@) FATBHTD

[Question ID = 72][Question Description = CTET_P1_PART_3_EVS_SET_112_Q72]
1. 1 [Option ID = 285]
2. 2 [Option ID = 286]
3. 3 [Option ID = 287]
4. 4 [Option ID = 288]

13) Which of the following pair is correct ?

(1) Sania Mirza : Table-tennis
(2) Saina Nehwal : Badminton
(3) P.T. Usha : Weightlifting
(4) K. Malleshwari : Athletics

feaferfera § & Fi9-A71 STET A1 8 ?

(1) =viRT fet - Fmea A
(2) AT AZA - A=A
(3) H1.AT. FuT : AeforiteT
(4) 3. eerady Tt

[Question ID = 73][Question Description = CTET_P1_PART_3_EVS_SET_112_Q73]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]
3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14) The Earth is round and it revolves around the Sun. So when there is mid-day in India, there is
mid-night in
(1) Algeria
(2) Alaska (USA)
(3) Argentina
(4) Canada



AT A g AT Tg T A aFHT TAr 2 | AT FF AT § AT (I17E7)
g1 2, 99 A+ 20 0 & 390 F qeF-270 gt g ?
DEiz
(2) T (Z.0H.T)
(3) AT
(4) FT=T
[Question ID = 74][Question Description = CTET_P1_PART_3_EVS_SET_112_Q74]
1 [Option ID = 293]
2 [Option ID = 294]

. 3 [Option ID = 295]
. 4 [Option ID = 296]

A wWw N -

15) In ancient monuments, a part of the wall comes out in a round shape and they are also higher
than the walls. They are known as:
(1) Skylight
(2) Dromer

3)

(4)

4) Bastion

Platform

T TATEAT |, FETE 1 T B T § argt Fhaan g de 9 Sam
fETAGTE ITEFaga g :

(1) T
(2) g7
(3) =TT
(4) T

[Question ID = 75][Question Description = CTET_P1_PART_3_EVS_SET_112_Q75]
1. 1 [Option ID = 297]
2. 2 [Option ID = 298]
3. 3 [Option ID = 299]
4. 4 [Option ID = 300]

Topic:- EVS_Q76-90_P1_CTET

1) EVS curriculum follows a thematic approach because

(1) thematic approach develops an integrated and holistic understanding of topics
(2) thematic approach develops a differentiated understanding of EVS topics
(3) subject-centred approach will have thick textbooks

(4) thematic approach helps one teacher teach all EVS topics easily



= ATTH. qrea=Al UF ANT-aeg argTiid STETH A Fdl g FAl
(1) FaT—a=g srenfva SUnrT | FAwTi 1 vHiga U5 THT THA F AT grav
g
(2) Ao SMeTa SIWH | T AL, F Haar f1 @ gum w7 G
LU
(3) FAwT-Fiesa S § AT 9T5T-0Fq = gl
(4) ATT-aw wraTd SUNH ¥ UE foramw |/sit € AT uw. F B #ir aear
[Question ID = 76][Question Description = CTET_P1_PART_3_EVS_SET_112_Q76]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]

3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

2) Nature of the Environmental Studies is described by which of the following terms ?
A. Multidisciplinary
B. Unified
C. Integrated
D. Solitary

(1)A,BandC
(2)B, Cand D
(3)CandD
(4)Aand C

Fereefortee & & -8 7= T e 7 A A A A § 2
A. TE-ATATHAT
B. afedfora
C. i

D. TFHA

(1)A, B &7 C

(2)B, C & D

(3)C &= D

(4)AdTC
[Question ID = 77][Question Description = CTET_P1_PART_3_EVS_SET_112_Q77]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]

3. 3 [Option ID = 307]
4. 4 [Option ID = 308]



3) Portfolio is
(1) a collection of the best work done by a child in a particular duration.
(2) a collection of the best work done by all the children in a particular duration.
(3) a collection of all the work done by a child in a particular duration.
(4) a collection of all the work done by all the children in a particular time.

TR dT

(1) o= A9 safa § =7 g7 & a0 "4y w50 77 59g |

(2) TF 39w srafar F 7t ==1 g7 By 10 Aa 1= w141 7 590g |
(3) TF TH9TT AT § F== g7 BT 10 98T AT 7 H0g |

(4) T TEr sr=ter & seft s== g B T HEeT T A 6

[Question ID = 78][Question Description = CTET_P1_PART_3_EVS_SET_112_Q78]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

4) The syllabus of EVS gradually extends the child’s understanding of his/her world beginning
from :

(1) Family

(2) Immediate self
(3) Neighbourhoaod
(4) Country

¢ A TH. FT IS G F 91 § g= A g i  mary, &7
AT FLTE |
(1) af=™
(2) ¥ AT ATy
(3) TTE-TETT
(4) For
[Question ID = 79][Question Description = CTET_P1_PART_3_EVS_SET_112_Q79]
Tl

3. 3 [Option ID = 315]
4. 4 [Option ID = 316]



5) As per EVS curriculum, children are expected to :

A. acquire awareness about immediate surroundings through lived
experiences on various themes related to daily life.

B. nurture natural curiosity and creativity for immediate surroundings.

C. develop sensitivity for natural, physical and human resources in the
immediate environment.

D. organize rallies and demonstrations to protect environment.

The correct option is :

1)AandB
2)BandC
3)A,BandC
4)CandD

(
(
(
(
ER e e Eoo b e TR s e o e R Pt e L D -
A. T 3% SEg T gt Ate @At 97 auq Ay ohEa F
AT H A0 AT ZTT ST 9o ¥ |
B. 7 Meeaw afvaer ¥ form grhfas/Aairs s 8 geareashar
FI TIHT F2 |
C. A THeds TAEIT § WFa®, Wids A7 J94 Ga9rda; 5 qi
TaEAeerdT F1 =Fe F7)
D. T 9T A& F o Terat o w=eeT T e #i7 |
agl fAaFweT 3
(1) A 47 B
(Bd#TC
(3)A, B#TC
(4)C ¥ D
[Question ID = 80][Question Description = CTET_P1_PART_3_EVS_SET_112_Q80]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]

3. 3 [Option ID = 319]
4. 4 [Option ID = 320]



6) Which of the following experiences are important for an EVS learner ?

(
(
(
(

A. Contextual Experience

B. Contrived Experience

C. Real life Experience

D. Simulated Experience

1)A BandC

2)B,CandD
3)C,Dand A
4)D,AandB

Feafofa § & TE Feae AETHEA( & (000 Hid- 099 Tgea 0 g ?

A.
B.
C

D.

ATEAtA® ST AIT
AT AT

(1A, BT C

(2)B, C & D

(3)C,DETA

(4)D, AT B
[Question ID = 81][Question Description = CTET_P1_PART_3_EVS_SET_112_Q81]
. 1 [Option ID = 321]

. 2 [Option ID = 322]

1
2

3. 3 [Option ID = 323]
4. 4 [Option ID = 324]

7) Which of the following statements is true in relation to EVS ?

A. EVS is taught from grade lll to V.
B. Ingrades | and |l the skills of EVS are embedded in the curriculum of Math and
Language.
C. NCERT syllabus of EVS classifies the topics into themes and sub themes along
with their possible connections.
D. The EVS curriculum enables the learner to appreciate the environment in a
holistic manner and compartmentalize topics into science and social science.
(1)A,BandD
(2)B,CandD
(3)A,BandC
(

4)Aand B



R e T e B e e e 1 e s o -

A TALTE. FTIE I TV T 92 FET S

B. IT | &™ Il § £ us. F Froer wiog T 90T F 95w T §
Fafeiad 2 |

C. TAT.UH. FT THAT T AT A, UTsa=ar AuAt #1 gAw wava
FerHrE F Ay At S gu-FAeAt § awfiEd w7 2

D. T .TH. TT5I=4T A=At Hil T 1 THY =7 F FgAT e
sz At =1 e ol Arnforn e § B w70 9 qaw
FATATE |

(1)A, B & D

(2)B,C#TD

(3)A, B#TC

(4) A& B
[Question ID = 82][Question Description = CTET_P1_PART_3_EVS_SET_112_Q82]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]

3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

8) Which perspective do teachers teaching EVS need to develop in learners to understand
environmental issues ?
(1) Multidisciplinary perspective
(2) Disciplinary perspective
(3) Global perspective
)

(4) Preserving and protecting the environment

AT F R F AHAG & (o0 T AL, TET AT forernt & At §
FIA-AT ITET AHtad F20 fiT AF9TH:471 3§ 2
(1) Fg-FAwrs aivsey
(2) AFLTHATHS TTRIET
(3) A== Tfeorear
(4) TN T HIHAW AT AT
[Question ID = 83][Question Description = CTET_P1_PART_3_EVS_SET_112_Q83]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]

3. 3 [Option ID = 331]
4. 4 [Option ID = 332]



9) Which of the following are suitable explainations of “observation” activities in EVS ?

A. Toenable children to see similarities to extend children’s learning.
B. Toenable children to see differences to extend children’s learning.
C. Toenable children to seek information to extend children’s learning.
D. Toenable children to nurture natural curiosity to extend children’s learning.
(1)Aand B
(2)Band C
(3)CandD
(4)Aand C

Feafofag o T Fia-dT @Ee d5q39 § "gaarEd Tiaae st SugE

SATEAT § 2
A. T=HT FT THIAATY 739 T8 F9747 oo =21 & dia+ 771 FEe
2l |

B. T==( 1 Hd7 T@4 § HAH FATA1 [50F F==1 & H1ag F1 H=1 27 |
C. =41 & AU ITeq F70 § TO97 FJaW7 a7 =371 F #draq #71
A gr
D. F=A1 &l ST SHEr &7 9ruoy F7A7 5ad a==31 & d9@d #:7
[EES 1RSI N
(WA B
()Bd#TC
(3)C#=D
(4)AdTC
[Question ID = 84][Question Description = CTET_P1_PART_3_EVS_SET_112_Q84]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]

3. 3 [Option ID = 335]
4. 4 [Option ID = 336]



10) Which of the following statements clarify the nature of Continuous and Comprehensive
Evaluation ?

A.
B.
C.

D.

CCE is assigning grades to children for their overall progress.
CCE is assigning marks to children for their overall progress.

CCE provides information about the changes in the levels of students from
time to time.

CCE is informing children about how they can progress in their learning
process.

1)A and B
2)BandC

(
(
(3)C and D
(

4)D and A

feaforfaa & & F9-0 597 709 UF SATTF T 51 THid 5l 7752 Fd g 2
A. FTT UF FTTH GeATHd F=41 $1 F007 $Wia F o 32 9 R=aw

ST €
B. &Ad UF =TT HeATHA T==1 A T WA F w3 &@w R
ST |

C. #9d U =TI TediHe GHI-THT 97 F==1 & d1@d % 71 § A1
AT TEEATA %! STAHTT AT 8 |
D. &4 TH FTIF ToATHA F==1 F1 Tg TAT1 g 6 T AT FfaT
TR T WD S TE |
(VA#TB
(2BH#TC
(3)C#=D
(4)D #iT A
[Question ID = 85][Question Description = CTET_P1_PART_3_EVS_SET_112_Q85]
21 2 [opton 0 53

3. 3 [Option ID = 339]
4. 4 [Option ID = 340]

11) Which of the following is most important for an EVS teacher to develop among its students
towards environment conservation ?

(1) Knowledge
(2) Attitude

e

)

)
3) Skill
4) Understanding



FU =TT F I AT 5 & Wi et F § e EEw 1T, v
AT AL T9rera % o aaiias gg=aq0 g 2

(1) 7

(2) At

(3) FrereT

(4) =
[Question ID = 86][Question Description = CTET_P1_PART_3_EVS_SET_112_Q86]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]

3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

12) Tashi is finding it difficult to explain the terms, "glucose”, "acid” and "acidity” given in the EVS
Book. What should Tashi do ?

(1) Show the packets of glucose and acid to children.
(2
3

(
(4) Invite local doctor in class for expert lecture.

)
) Ask students to read the Hindi meanings of these words from the dictionary.

) Try to explain in local language of children and discuss their experiences.

)

AT T TATTCW HETIT Fl e § 30 0 9158 "Iwier, (UiHE” T Uil
F=AT o AHATT H FH5ATE af Tal 2 | ATefl T 747 FeeAT ATM2Y ?

(1) TS 31T U Fohe o1 F7 F==1 & =FEn |

(2) FE=TTE= 7 orsa=h1eT | ¥ =7 91551 & ey o7 7@ F1 #:¢ |

(3) F=AT T TITHIT ATIT TIT ATTST 9 F=T FHT THATT T TATH F7 |
(4) =T F T S T [A9r9s 197 F o0 drHET w1 |

[Question ID = 87][Question Description = CTET_P1_PART_3_EVS_SET_112_Q87]
1. 1 [Option ID = 345]
2. 2 [Option ID = 346]
3. 3 [Option ID = 347]
4. 4 [Option ID = 348]

13) Environmental Studies is about which of the following forms of learning ?
A. Factual
B. Experiential
C. Experimental

(1)Aand B
(2)Aand C
(3)BandC
(4)AandD



T FEAAT AT & e ferias camai § 8§ g eaadi 5 a1 6 g ?
A. TEATHF

B. #A9ATHT
C. TAMNTHF

(1)A B

(2)AdTC

(3)B&TC

(4) A€ D
[Question ID = 88][Question Description = CTET_P1_PART_3_EVS_SET_112_Q88]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]

3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

14) The EVS curriculum should stress upon which of the following 7

A
B.
C.
D.

Content
Process
Facts

Application

1)Aand B
2)BandC

(
(
(3)CandD
(

4)BandD

T AT FEAAT T o1 Metortad o o & 9% §12 3497 F1fe0 ?
A. fauTae

B. wfaam

C. 7=

D. &IuInrT

(1)A&TB

(2B#wC

(3)C#TD

(4)B#D
[Question ID = 89][Question Description = CTET_P1_PART_3_EVS_SET_112_Q89]
1. 1 [Option ID = 353]
2. 2 [Option ID = 354]

3. 3 [Option ID = 355]
4. 4 [Option ID = 356]



15) Basva is going to conduct a puppet show on farmers’ life. This will develop which of the
following process skills in the students ?

(1) Remembering skill
(2)
(3) Conceptual skill

(4) Observation skill

FaAT FFATET F ST 9T UF FIYAAT FIAFH FT H=AT FAT g | 3 i
H fHeAferiad § 7 F19-8 THAT F197 FT =@ gH 2

(1) ITE 7@ FT F1qA
(2) TZATAA T FI9TA
(3) ATITEOTHF FT9TA
(4) ST Frere

[Question ID = 90][Question Description = CTET_P1_PART_3_EVS_SET_112_Q90]
1 [Option ID = 357]
2 [Option ID = 358]
. 3 [Option ID = 359]
4 [Option ID = 360]

Recognising skill

A W N -

Topic:- HIN_Q91-99_L1_P1_CTET



") fRder : Aefafaa T 71 92FT 15 a0 T4 F ag/aas gy g9} a5
faoT #r FiAT |
TR AT F I 07 T AT TR A7 AT T grol ge T il A7 A1 g
ST T 39 AT TH A AT FEAT 2 | TThT ATHA-HTHA A K gl 2 Fi
HTHT T b 2 FA e Tger Tear 1 2 @ H T 9 a9 G & S
T grem F7 /ety % 399 3 forg s =i o afth-a9 g sa-ena
Wl H9A 2T, Ted § UH-gAY | e @1 F1gu | 97 T TMATEl F T 59
T & FRTTH HT (A9 St e foerar g, 99 79 | Heg 5 grar ¢ B Avw
HIT F4T AT RN ? S 9 WA F a1 FET gE gE0 a9 9 e g
FAATEAT g1 FTaT g A TSt 3T 99 § a0 39 Sgi-agt 994 g A1 Th1e H7
g1 THH ATS 39 A1 AgIA A4l F7 gial g | d4% q@l g7 9 90 § A
Tt 8 | T2 YATg FT 778 AAT-HAT 2 AT T Tl & of UF H ATdH 7187
2 | T AT AE[CH U ErRT TR SR AT AT AT 2 | AET AT SR HEAT
ATH TR ST |
‘Tt % 399 & o ST e P aE a AT g

(1) = % 919 & g ST =1ien
(2) T9F F =9 & o0 ST AT
(3) FHier & T8I T for =T AR
(4) THT F 2909 & T FAT AT

[Question ID = 250][Question Description = CTET_P1_PART_4_L1_SET_112_HINDI_Q91]
1. 1 [Option ID = 997]

2. 2 [Option ID = 998]

3. 3 [Option ID = 999]

4. 4 [Option ID = 1000]




2) fader : FafofaT Ters #1 92 95 T7 T4 F ag/aad gg 997 I
fameT Fr g7 |
TR AT F I 07 T AT TR A7 AT T grol ge T il A7 A1 g
1Y T TH AT T T A AL FEAT g | IHT ATHA-ATHT G FH gl 2 i e
ATHA T8 & ? Fia 0 Tger TEar T 2 #6q H e q 97 G & W o
T grem F7 /ety % 399 3 forg s =i o afth-a9 g sa-ena
Wl H9A 2T, Ted § UH-gAY | e @1 F1gu | 97 T TMATEl F T 59
AT AT TR T T §er AT Hear 2, 99 99 | "@ag U=y gran g oA
HIT F4T AT RN ? S 9 WA F a1 FET gE gE0 a9 9 e g
FAATEAT g1 FTaT g A TSt 3T 99 § a0 39 Sgi-agt 994 g A1 Th1e H7
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Topic:- ENG_Q121-128_L2_P1_CTET



1) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate option :

1. An individual, in a state of well-being at one point of time, may be pushed into distress by an
event or situation but may be able to bounce back to the state of well-being again. For
example, after being isolated from a peer group, a child might initially feel low and experience
distress. The child might hot be able to concentrate on studies or interact with others, but over
a period of time may bounce back and find ways to deal with the problem and get back to
doing things the child enjoys.

2. However, if the child is not able to function for a prolonged period of time and continues
feeling distressed most of the time, it may be important to seek professional help to rule out an
illness and seek timely help. Emotional well-being and mental health is to develop awareness
about mental health skills, developing emotional well-being in self, and fostering and
supporting one another in developing positive attitudes and accessing help when required. The
emphasis is also on building awareness around various emotions and expressicns, identify
their own and their peers’ personal strengths and skills to reach out for help, if and when
required.

3. The knowledge about mental health helps in identifying and using their strengths to cope
with stressful situations. After all, emotions are a part of life. Becoming aware of our emotions
and labelling them is the first step in managing challenging emotions. Emotions are neither
good nor bad but how they are expressed is more important. Developing awareness of
emotions is a skill that builds over time and needs to be practised.

The phrasal verb ‘bounce back’ in para 1 means

(1) enjoy
(2) experience
(3) recover

(4) isolate

[Question ID = 370][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q121]
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2) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate option :

1. An individual, in a state of well-being at one point of time, may be pushed into distress by an
event or situation but may be able to bounce back to the state of well-being again. For
example, after being isolated from a peer group, a child might initially feel low and experience
distress. The child might hot be able to concentrate on studies or interact with others, but over
a period of time may bounce back and find ways to deal with the problem and get back to
doing things the child enjoys.

2. However, if the child is not able to function for a prolonged period of time and continues
feeling distressed most of the time, it may be important to seek professional help to rule out an
illness and seek timely help. Emotional well-being and mental health is to develop awareness
about mental health skills, developing emotional well-being in self, and fostering and
supporting one another in developing positive attitudes and accessing help when required. The
emphasis is also on building awareness around various emotions and expressicns, identify
their own and their peers’ personal strengths and skills to reach out for help, if and when
required.

3. The knowledge about mental health helps in identifying and using their strengths to cope
with stressful situations. After all, emotions are a part of life. Becoming aware of our emotions
and labelling them is the first step in managing challenging emotions. Emotions are neither
good nor bad but how they are expressed is more important. Developing awareness of
emotions is a skill that builds over time and needs to be practised.

The underlined word in the expression ‘important to seek professional help’ means
(1) search for

(2) assist in

(3) identify from

(4) continue

[Question ID = 371][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q122]
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3) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate option :

1. An individual, in a state of well-being at one point of time, may be pushed into distress by an
event or situation but may be able to bounce back to the state of well-being again. For
example, after being isolated from a peer group, a child might initially feel low and experience
distress. The child might hot be able to concentrate on studies or interact with others, but over
a period of time may bounce back and find ways to deal with the problem and get back to
doing things the child enjoys.

2. However, if the child is not able to function for a prolonged period of time and continues
feeling distressed most of the time, it may be important to seek professional help to rule out an
illness and seek timely help. Emotional well-being and mental health is to develop awareness
about mental health skills, developing emotional well-being in self, and fostering and
supporting one another in developing positive attitudes and accessing help when required. The
emphasis is also on building awareness around various emotions and expressicns, identify
their own and their peers’ personal strengths and skills to reach out for help, if and when
required.

3. The knowledge about mental health helps in identifying and using their strengths to cope
with stressful situations. After all, emotions are a part of life. Becoming aware of our emotions
and labelling them is the first step in managing challenging emotions. Emotions are neither
good nor bad but how they are expressed is more important. Developing awareness of
emotions is a skill that builds over time and needs to be practised.

The word ‘initially’ in para 1 is a/an

(1) Conjunction
(2) Adverb

(3) Adjective
(4) Verb

[Question ID = 372][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q123]
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4) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate option :

1. An individual, in a state of well-being at one point of time, may be pushed into distress by an
event or situation but may be able to bounce back to the state of well-being again. For
example, after being isolated from a peer group, a child might initially feel low and experience
distress. The child might hot be able to concentrate on studies or interact with others, but over
a period of time may bounce back and find ways to deal with the problem and get back to
doing things the child enjoys.

2. However, if the child is not able to function for a prolonged period of time and continues
feeling distressed most of the time, it may be important to seek professional help to rule out an
illness and seek timely help. Emotional well-being and mental health is to develop awareness
about mental health skills, developing emotional well-being in self, and fostering and
supporting one another in developing positive attitudes and accessing help when required. The
emphasis is also on building awareness around various emotions and expressicns, identify
their own and their peers’ personal strengths and skills to reach out for help, if and when
required.

3. The knowledge about mental health helps in identifying and using their strengths to cope
with stressful situations. After all, emotions are a part of life. Becoming aware of our emotions
and labelling them is the first step in managing challenging emotions. Emotions are neither
good nor bad but how they are expressed is more important. Developing awareness of
emotions is a skill that builds over time and needs to be practised.

Which word in para 2 does nefmean grooming or nurturing?

(1) Fostering
(2) Developing
(3) Supporting
(4) Accessing

[Question ID = 373][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q124]
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5) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate option :

1. An individual, in a state of well-being at one point of time, may be pushed into distress by an
event or situation but may be able to bounce back to the state of well-being again. For
example, after being isolated from a peer group, a child might initially feel low and experience
distress. The child might hot be able to concentrate on studies or interact with others, but over
a period of time may bounce back and find ways to deal with the problem and get back to
doing things the child enjoys.

2. However, if the child is not able to function for a prolonged period of time and continues
feeling distressed most of the time, it may be important to seek professional help to rule out an
illness and seek timely help. Emotional well-being and mental health is to develop awareness
about mental health skills, developing emotional well-being in self, and fostering and
supporting one another in developing positive attitudes and accessing help when required. The
emphasis is also on building awareness around various emotions and expressicns, identify
their own and their peers’ personal strengths and skills to reach out for help, if and when
required.

3. The knowledge about mental health helps in identifying and using their strengths to cope
with stressful situations. After all, emotions are a part of life. Becoming aware of our emotions
and labelling them is the first step in managing challenging emotions. Emotions are neither
good nor bad but how they are expressed is more important. Developing awareness of
emotions is a skill that builds over time and needs to be practised.

According to the writer, a child needs to seek professional help if

(1) the child does things he/she enjoys.
(2) the child recovers after being isolated from a peer group.
(3) the child is unable to function for an extended period of time.

(4) the child feels distressed for a short span of time.

[Question ID = 374][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q125]
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6) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate option :

1. An individual, in a state of well-being at one point of time, may be pushed into distress by an
event or situation but may be able to bounce back to the state of well-being again. For
example, after being isolated from a peer group, a child might initially feel low and experience
distress. The child might hot be able to concentrate on studies or interact with others, but over
a period of time may bounce back and find ways to deal with the problem and get back to
doing things the child enjoys.

2. However, if the child is not able to function for a prolonged period of time and continues
feeling distressed most of the time, it may be important to seek professional help to rule out an
illness and seek timely help. Emotional well-being and mental health is to develop awareness
about mental health skills, developing emotional well-being in self, and fostering and
supporting one another in developing positive attitudes and accessing help when required. The
emphasis is also on building awareness around various emotions and expressicns, identify
their own and their peers’ personal strengths and skills to reach out for help, if and when
required.

3. The knowledge about mental health helps in identifying and using their strengths to cope
with stressful situations. After all, emotions are a part of life. Becoming aware of our emotions
and labelling them is the first step in managing challenging emotions. Emotions are neither
good nor bad but how they are expressed is more important. Developing awareness of
emotions is a skill that builds over time and needs to be practised.

What is the writer trying to convey in this passage ?

(1) Handling challenging emotions is a skill impossible to acquire.
(2) Importance of emotional well-being and mental health.
(3) How one can be pushed into distress by an event.

(4) Seeking professional help is not necessary when you are feeling low.

[Question ID = 375][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q126]
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7) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate option :

1. An individual, in a state of well-being at one point of time, may be pushed into distress by an
event or situation but may be able to bounce back to the state of well-being again. For
example, after being isolated from a peer group, a child might initially feel low and experience
distress. The child might hot be able to concentrate on studies or interact with others, but over
a period of time may bounce back and find ways to deal with the problem and get back to
doing things the child enjoys.

2. However, if the child is not able to function for a prolonged period of time and continues
feeling distressed most of the time, it may be important to seek professional help to rule out an
illness and seek timely help. Emotional well-being and mental health is to develop awareness
about mental health skills, developing emotional well-being in self, and fostering and
supporting one another in developing positive attitudes and accessing help when required. The
emphasis is also on building awareness around various emotions and expressicns, identify
their own and their peers’ personal strengths and skills to reach out for help, if and when
required.

3. The knowledge about mental health helps in identifying and using their strengths to cope
with stressful situations. After all, emotions are a part of life. Becoming aware of our emotions
and labelling them is the first step in managing challenging emotions. Emotions are neither
good nor bad but how they are expressed is more important. Developing awareness of
emotions is a skill that builds over time and needs to be practised.

‘If the child continues feeling distressed.’ In this sentence, the underlined words mean

(1) experiencing anger
(2) feeling ignored
(3) experiencing anguish

(4) feeling surprised

[Question ID = 376][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q127]
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8) Directions : Read the passage given below and answer the questions that follow by selecting
the correct / most appropriate option :
1. An individual, in a state of well-being at one point of time, may be pushed into distress by an
event or situation but may be able to bounce back to the state of well-being again. For
example, after being isolated from a peer group, a child might initially feel low and experience
distress. The child might hot be able to concentrate on studies or interact with others, but over
a period of time may bounce back and find ways to deal with the problem and get back to
doing things the child enjoys.
2. However, if the child is not able to function for a prolonged period of time and continues
feeling distressed most of the time, it may be important to seek professional help to rule out an
illness and seek timely help. Emotional well-being and mental health is to develop awareness
about mental health skills, developing emotional well-being in self, and fostering and
supporting one another in developing positive attitudes and accessing help when required. The
emphasis is also on building awareness around various emotions and expressicns, identify
their own and their peers’ personal strengths and skills to reach out for help, if and when
required.
3. The knowledge about mental health helps in identifying and using their strengths to cope
with stressful situations. After all, emotions are a part of life. Becoming aware of our emotions
and labelling them is the first step in managing challenging emotions. Emotions are neither
good nor bad but how they are expressed is more important. Developing awareness of
emotions is a skill that builds over time and needs to be practised.

Read the following statements :

(A) Having awareness of various emotions is of great importance for one'’s
emotional well-being.

(B) Emotions are either good or bad.

(C) Emotions can be managed over time by practice.

(1
()
(3)

3) (A) and (B) are incorrect, (C) is correct

B) and (C) are correct, (A) is incorrect

( (
(B) and (A) are correct, (C) is incorrect
( (

(4) (A) and (C) are correct, (B) is incorrect

[Question ID = 377][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q128]
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1) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate option :

1. People my age dislike doing science at high school. | go to one where science subjects are
popular. We frequently have special Science Days which are organized by our Headmaster
and teachers. On these days, people working in science are invited to discuss about their jobs.
On the |ast Science Day we had no idea what was planned — a real working robot came to
spend the day with us! It was fantastic! The robot's name was Gizmo. We were told he was the
most advanced robot in the world, we quickly realized he was no erdinary machine. He could
do amazing things like walking up and down the stairs, waving and even dancing to rock
music. He was about the same size as us, with long arms and legs, but apart from that hot at
all similar to a real person. Instead of a face, he had a helmet like a spaceman’s. It was very
exciting to come face-to-face with latest technology.

2. The company that Gizmo belongs to said it actually took them 20 years to make him, but
they think that within another 20 years, he will be a common sight in homes. Everyone liked the
way Gizmo behaved, as he always said ‘please’ and ‘thank you’, and even fetched our drinks
and snacks. The funny thing about Gizmo was that he could do many things, but when we tried
to make conversation, he didn't say anything. The company that developed the robot hops that
they can make one that will do complicated things like having discussions one day. The day
with Gizmo was a success. Many of us now want to go into careers in science and technology
— which was just the result our Headmaster wanted. He said the day had been worth the hard
work.

What according to the writer was ‘fantastic’ at school one day ?

(1) Conducting a debate on 'science and its achievement’
(2) The visit of a real working robot
(3) Talks by people of science

(4) The writer learning to make a robot

[Question ID = 378][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q129]
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2) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate option :

1. People my age dislike doing science at high school. | go to one where science subjects are
popular. We frequently have special Science Days which are organized by our Headmaster
and teachers. On these days, people working in science are invited to discuss about their jobs.
On the |ast Science Day we had no idea what was planned — a real working robot came to
spend the day with us! It was fantastic! The robot's name was Gizmo. We were told he was the
most advanced robot in the world, we quickly realized he was no erdinary machine. He could
do amazing things like walking up and down the stairs, waving and even dancing to rock
music. He was about the same size as us, with long arms and legs, but apart from that hot at
all similar to a real person. Instead of a face, he had a helmet like a spaceman’s. It was very
exciting to come face-to-face with latest technology.

2. The company that Gizmo belongs to said it actually took them 20 years to make him, but
they think that within another 20 years, he will be a common sight in homes. Everyone liked the
way Gizmo behaved, as he always said ‘please’ and ‘thank you’, and even fetched our drinks
and snacks. The funny thing about Gizmo was that he could do many things, but when we tried
to make conversation, he didn't say anything. The company that developed the robot hops that
they can make one that will do complicated things like having discussions one day. The day
with Gizmo was a success. Many of us now want to go into careers in science and technology
— which was just the result our Headmaster wanted. He said the day had been worth the hard
work.

The company that made Gizmo, believes that

(1) giving robots human features is impossible.
(2) all school children can make robots like Gizmo.
(3) schools will be run by robots shortly.

(4) gizmo will be a common household item eventually.

[Question ID = 379][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q130]
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3) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate option :

1. People my age dislike doing science at high school. | go to one where science subjects are
popular. We frequently have special Science Days which are organized by our Headmaster
and teachers. On these days, people working in science are invited to discuss about their jobs.
On the |ast Science Day we had no idea what was planned — a real working robot came to
spend the day with us! It was fantastic! The robot's name was Gizmo. We were told he was the
most advanced robot in the world, we quickly realized he was no erdinary machine. He could
do amazing things like walking up and down the stairs, waving and even dancing to rock
music. He was about the same size as us, with long arms and legs, but apart from that hot at
all similar to a real person. Instead of a face, he had a helmet like a spaceman’s. It was very
exciting to come face-to-face with latest technology.

2. The company that Gizmo belongs to said it actually took them 20 years to make him, but
they think that within another 20 years, he will be a common sight in homes. Everyone liked the
way Gizmo behaved, as he always said ‘please’ and ‘thank you’, and even fetched our drinks
and snacks. The funny thing about Gizmo was that he could do many things, but when we tried
to make conversation, he didn't say anything. The company that developed the robot hops that
they can make one that will do complicated things like having discussions one day. The day
with Gizmo was a success. Many of us now want to go into careers in science and technology
— which was just the result our Headmaster wanted. He said the day had been worth the hard
work.

Which word in para 1 means standard/usual?
(1) Amazing
(2) Latest

(3) Fantastic
(4) Ordinary
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4) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate option :

1. People my age dislike doing science at high school. | go to one where science subjects are
popular. We frequently have special Science Days which are organized by our Headmaster
and teachers. On these days, people working in science are invited to discuss about their jobs.
On the |ast Science Day we had no idea what was planned — a real working robot came to
spend the day with us! It was fantastic! The robot's name was Gizmo. We were told he was the
most advanced robot in the world, we quickly realized he was no erdinary machine. He could
do amazing things like walking up and down the stairs, waving and even dancing to rock
music. He was about the same size as us, with long arms and legs, but apart from that hot at
all similar to a real person. Instead of a face, he had a helmet like a spaceman’s. It was very
exciting to come face-to-face with latest technology.

2. The company that Gizmo belongs to said it actually took them 20 years to make him, but
they think that within another 20 years, he will be a common sight in homes. Everyone liked the
way Gizmo behaved, as he always said ‘please’ and ‘thank you’, and even fetched our drinks
and snacks. The funny thing about Gizmo was that he could do many things, but when we tried
to make conversation, he didn't say anything. The company that developed the robot hops that
they can make one that will do complicated things like having discussions one day. The day
with Gizmo was a success. Many of us now want to go into careers in science and technology
— which was just the result our Headmaster wanted. He said the day had been worth the hard
work.

The underlined word in the sentence in para 1 ‘He was about the same size as us/, is a/an
(1) Preposition

(2) Adjective

(3) Conjunction

(4) Adverb
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5) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate option :

1. People my age dislike doing science at high school. | go to one where science subjects are
popular. We frequently have special Science Days which are organized by our Headmaster
and teachers. On these days, people working in science are invited to discuss about their jobs.
On the |ast Science Day we had no idea what was planned — a real working robot came to
spend the day with us! It was fantastic! The robot's name was Gizmo. We were told he was the
most advanced robot in the world, we quickly realized he was no erdinary machine. He could
do amazing things like walking up and down the stairs, waving and even dancing to rock
music. He was about the same size as us, with long arms and legs, but apart from that hot at
all similar to a real person. Instead of a face, he had a helmet like a spaceman’s. It was very
exciting to come face-to-face with latest technology.

2. The company that Gizmo belongs to said it actually took them 20 years to make him, but
they think that within another 20 years, he will be a common sight in homes. Everyone liked the
way Gizmo behaved, as he always said ‘please’ and ‘thank you’, and even fetched our drinks
and snacks. The funny thing about Gizmo was that he could do many things, but when we tried
to make conversation, he didn't say anything. The company that developed the robot hops that
they can make one that will do complicated things like having discussions one day. The day
with Gizmo was a success. Many of us now want to go into careers in science and technology
— which was just the result our Headmaster wanted. He said the day had been worth the hard
work.

Within ancther 20 years, he will be a common sight. The word ‘within’ is a/an
(1) Article

(2) Adjective

(3) Preposition

(4) Adverb

[Question ID = 382][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q133]

1. 1 [Option ID = 1525]
2. 2 [Option ID = 1526]
3.

4. 4 [Option ID = 1528]

3 [Option ID = 1527]



6) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate option :

1. People my age dislike doing science at high school. | go to one where science subjects are
popular. We frequently have special Science Days which are organized by our Headmaster
and teachers. On these days, people working in science are invited to discuss about their jobs.
On the |ast Science Day we had no idea what was planned — a real working robot came to
spend the day with us! It was fantastic! The robot's name was Gizmo. We were told he was the
most advanced robot in the world, we quickly realized he was no erdinary machine. He could
do amazing things like walking up and down the stairs, waving and even dancing to rock
music. He was about the same size as us, with long arms and legs, but apart from that hot at
all similar to a real person. Instead of a face, he had a helmet like a spaceman’s. It was very
exciting to come face-to-face with latest technology.

2. The company that Gizmo belongs to said it actually took them 20 years to make him, but
they think that within another 20 years, he will be a common sight in homes. Everyone liked the
way Gizmo behaved, as he always said ‘please’ and ‘thank you’, and even fetched our drinks
and snacks. The funny thing about Gizmo was that he could do many things, but when we tried
to make conversation, he didn't say anything. The company that developed the robot hops that
they can make one that will do complicated things like having discussions one day. The day
with Gizmo was a success. Many of us now want to go into careers in science and technology
— which was just the result our Headmaster wanted. He said the day had been worth the hard
work.

What was the one thing that robot Gizme could nefdeo which other children could ?

(1) Make conversation with others
(2) Dance to rock music
(3) Walk up and down the stairs

(4) Fetch drinks and snacks for others
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7) Directions : Read the passage given below and answer the questions that follow by selecting

the correct / most appropriate option :

1. People my age dislike doing science at high school. | go to one where science subjects are
popular. We frequently have special Science Days which are organized by our Headmaster
and teachers. On these days, people working in science are invited to discuss about their jobs.
On the |ast Science Day we had no idea what was planned — a real working robot came to
spend the day with us! It was fantastic! The robot's name was Gizmo. We were told he was the
most advanced robot in the world, we quickly realized he was no erdinary machine. He could
do amazing things like walking up and down the stairs, waving and even dancing to rock
music. He was about the same size as us, with long arms and legs, but apart from that hot at
all similar to a real person. Instead of a face, he had a helmet like a spaceman’s. It was very
exciting to come face-to-face with latest technology.

2. The company that Gizmo belongs to said it actually took them 20 years to make him, but
they think that within another 20 years, he will be a common sight in homes. Everyone liked the
way Gizmo behaved, as he always said ‘please’ and ‘thank you’, and even fetched our drinks
and snacks. The funny thing about Gizmo was that he could do many things, but when we tried
to make conversation, he didn't say anything. The company that developed the robot hops that
they can make one that will do complicated things like having discussions one day. The day
with Gizmo was a success. Many of us now want to go into careers in science and technology
— which was just the result our Headmaster wanted. He said the day had been worth the hard
work.

Read the statements carefully :

(A) The Science Day at high school was a success.

(B) Many students wanted to pursue careers in science and technology.
(C) The Headmaster felt that the effort made was not worth it.

(1) (B) and (C) are correct, (A) is incorrect

(2) (A)and (

(3) (A) and (B) are correct, (C) is incorrect
(4) ( (

C) are incorrect, (B) is correct

A) and (B) are incorrect, (C) is correct

[Question ID = 384][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q135]

1. 1 [Option ID = 1533]
2. 2 [Option ID = 1534]
3.

4. 4 [Option ID = 1536]

3 [Option ID = 1535]

Topic:- ENG_Q136-150_L2_P1_CTET

1) In language development, the words and word combinations that children use is known as

1) Phoneme

3) Production

(
(2) Reception
(
(4) Comprehension

[Question ID = 385][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q136]

A w N =

1 [Option ID = 1537]
2 [Option ID = 1538]
3 [Option ID = 1539]
4 [Option ID = 1540]



2) The component of language concerned with understanding the meaning of words and word
combinations is known as

(1) phonology

(2) semantics

(3) pragmatics
(4) grammar

[Question ID = 386][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q137]
1. 1 [Option ID = 1541]
2. 2 [Option ID = 1542]
3. 3 [Option ID = 1543]
4. 4 [Option ID = 1544]

3) The language device permits children, as soon as they have acquired
sufficient vocabulary, to combine words into grammatically consistent utterances and to
understand the meaning of sentences they hear.

1) learning

(

(2) acquisition
(3) accommodation
(

4) extension

[Question ID = 387][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q138]
1. 1 [Option ID = 1545]
2. 2 [Option ID = 1546]
3. 3 [Option ID = 1547]
4. 4 [Option ID = 1548]

4) The purpose of diagnostic test in language learning is to :

1) give feadback to the parents in the mega PTMs.

(

(2) record on the report card of students.

(3) plan and prepare learners for competitive tests.
(

4) know the gaps in the understanding of learners.

[Question ID = 388][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q139]
1. 1 [Option ID = 1549]
2. 2 [Option ID = 1550]
3. 3 [Option ID = 1551]
4. 4 [Option ID = 1552]

5) In early childhood, language development and literacy development refers to

1) the same concept and can be used interchangeably.

(
(2) two completely different concepts and they are unrelated.
(3) two different concepts but can be used interchangeably.

(

4) two related concepts which cannot be used interchangeably.

[Question ID = 389][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q140]
1. 1 [Option ID = 1553]
2. 2 [Option ID = 1554]
3. 3 [Option ID = 1555]
4. 4 [Option ID = 1556]



6) Which of the following approaches involves systematic presentation and practice of carefully
selected and graded grammatical construction of the target language in effective and
meaningful situations?

1) Constructivist approach

(
(2) Communicative approach
(3) Structural approach

(

4) Whole language approach

[Question ID = 390][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q141]
1. 1 [Option ID = 1557]
2. 2 [Option ID = 1558]
3. 3 [Option ID = 1559]
4. 4 [Option ID = 1560]

7) A teacher asks learners to brainstorm on the topic “Pollution due to Urbanization”. Here,
brainstorming means

(1) sequencing ideas in chronological order.

(2) noting down points pertaining to a topic randomly.
(3) concluding the paragraph.

(4) writing the topic sentence.

[Question ID = 391][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q142]
1. 1 [Option ID = 1561]
2. 2 [Option ID = 1562]
3. 3 [Option ID = 1563]
4. 4 [Option ID = 1564]

8) Aman uses full stops and capital letters and is aware of other punctuation marks while writing.
Here, Aman is focusing on

(1) composition
(2) transcription
(3) scribbling
(4) narrative

[Question ID = 392][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q143]
1. 1 [Option ID = 1565]
2. 2 [Option ID = 1566]
3. 3 [Option ID = 1567]
4. 4 [Option ID = 1568]

9) ‘Interactive’ listening is

1) Listening and responding

(

(2) Listening for tone modulation

(3) Listening for word stress and emphasis
(

4) Listening for finding out speaker’s attitude

[Question ID = 393][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q144]
1. 1 [Option ID = 1569]
2. 2 [Option ID = 1570]
3. 3 [Option ID = 1571]
4. 4 [Option ID = 1572]



10) A student, while reading a story, finds some new words and is not aware of the meaning of
those words. He should

(1) consult the teacher.
(2) skip the word to complete his reading in time.
(

3) guess the meaning of the word in the context.
(4) consult the dictionary.

[Question ID = 394][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q145]
1. 1 [Option ID = 1573]

2. 2 [Option ID = 1574]
3. 3 [Option ID = 1575]
4. 4 [Option ID = 1576]

11) Formative assessment is

(1) process oriented
(2) product oriented
(3) proficiency oriented
(

4) pedagogy oriented

[Question ID = 395][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q146]
1. 1 [Option ID = 1577]

2. 2 [Option ID = 1578]
3. 3 [Option ID = 1579]
4. 4 [Option ID = 1580]

12) Which of the following is true of language learning ?

(1) Language develops mainly through its purposeful use.

(2) Learning involves talking, writing, shaping and moving.

(3) Learning occurs through learning the forms and rules of language.
(

4) As suggested by one of the methods, language can mainly be learnt by repeating
dialogues.

1. 1 [Option ID = 1581]
2. 2 [Option ID = 1582]
3. 3 [Option ID = 1583]
4. 4 [Option ID = 1584]

[Question ID = 396][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q147]

13) When children are around 2 years old, they begin to combine two-word phrases, focusing on
content words while leaving out less important words. These two words’ utterances are called
(1) Cooing
(2) Babbling
(3) Telegraphic speech

(4) Overgeneralization

[Question ID = 397][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q148]
1. 1 [Option ID = 1585]

2. 2 [Option ID = 1586]
3. 3 [Option ID = 1587]
4. 4 [Option ID = 1588]



14) A teacher finds that some students understand the concept more clearly when they are
involved in some activities or task and get the chance to do it. Their learning style is
(1) Auditory
(2) Visual
(3) Kinesthetic
(4) Aesthetic

[Question ID = 398][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q149]
1 [Option ID = 1589]
2 [Option ID = 1590]
3 [Option ID = 1591]
4 [Option ID = 1592]

AN wnN -

15) Which approach/method engages students in the activities around real-world tasks to promote
Ianguagé acquisition? |
(1) Grammar translation method
(2) Communicative approach
(3) Structural approach
(4) Audiolingual method

[Question ID = 399][Question Description = CTET_P1_PART_5_L2_SET_112_ENGLISH_Q150]

1 [Option ID = 1593]
2 [Option ID = 1594]

3 [Option ID = 1595]
4 [Option ID = 1596]

A wnN =






